

Matrix Transforms into a Set of α -absolutely A^λ -summable Sequences

ANTS AASMA¹, PINNANGUDI N. NATARAJAN²

¹Department of Economics and Finance,
Tallinn Univ. of Technology,
Akadeemia tee 3-456, 12618,
ESTONIA

²Old no. 2/3, new no.3/3 Second main road, R. A. Puram, Chennai 600028,
INDIA

Abstract: - Suppose A is a matrix having real or complex entries and λ - a monotonically increasing strictly positive sequence, i.e., the speed. In this paper, the notions of λ -reversibility of A , A^λ -boundedness, and A^λ -summability of sequences are recalled, and the notion of α -absolute A^λ -summability of sequences is introduced. Also, there are characterized matrix transforms from the set of all A^λ -bounded, or the set of all A^λ -summable, or the set of all 1- absolute A^λ -summable sequences into the set of all α -absolutely ($\alpha > 1$) B^μ -summable sequences for a normal or λ -reversible matrix A and a matrix $B = (b_{nk})$ with $b_{nk} = 0$, $k > n$, and for another speed μ .

Key-Words: - Matrix transforms, λ -reversibility of matrices, boundedness with speed, convergence with speed, zero-convergence with speed, summability with speed, α -absolute summability with speed.

Received: June 12, 2024. Revised: October 23, 2024. Accepted: November 13, 2024. Published: December 15, 2024.

1 Introduction

First, we note that the present paper is the continuation of [1]. Therefore, we strictly follow the notations and concepts of [1].

The speed of convergence of sequences can be treated in different ways, see, for example, [2], [3], [4], [5], [6], [7], [8]. We use, as in [1], the tools, introduced in [2] and [7].

However, in general, we do not expect the boundedness of λ , the most important case is $\lambda_k \neq O(1)$, because in this case relation

$$\lim_k x_k := s \text{ and } v_k := \lambda_k(x_k - s) \quad (1)$$

for a convergent sequence $x = (x_k)$ allows to evaluate the quality of convergence of converging sequences. Indeed, let x^1 and x^2 be two convergent sequences with the finite limit s . If $(v_k) \in c$ (or $v_k = O(1)$) for $x = x^1$, and $(v_k) \notin c$ (or $v_k \neq O(1)$) for $x = x^2$, then the sequence x^1 converges "better" (more precisely, faster) than sequence x^2 . Thus λ , in the case $\lambda_k \neq O(1)$, measures the speed of approaching to the limit s for the observed sequences.

Let $A = (a_{nk})$ be an arbitrary matrix with real or complex entries. Following [6] (see also [2]), a

sequence $x = (x_k)$ is called A^λ -bounded (A^λ -summable), if $Ax \in l_\infty^\lambda$ (correspondingly $Ax \in c^\lambda$).

Definition 1. If $Ax \in l_\alpha^\lambda$, then we tell that a convergent sequence $x = (x_k)$ is α -absolutely A^λ -summable,

Let $(l_\infty)_A^\lambda$ - the set of A^λ -bounded sequences, c_A^λ - the set of all A^λ -summable sequences, and $(l_\alpha)_A^\lambda$ - the set of all α -absolutely A^λ -summable sequences. Let

$$(c_0)_A^\lambda := \{x \in c_A^\lambda : Ax \in c_0^\lambda\},$$

$$c_A := \{x \in \omega : Ax \in c\}.$$

It is easy to see that

$$(l_\alpha)_A^\lambda \subset (c_0)_A^\lambda \subset c_A^\lambda \subset (l_\infty)_A^\lambda \subset c_A,$$

and

$$(l_\infty)_A^\lambda = c_A^\lambda = (c_0)_A^\lambda = c_A$$

a bounded λ .

Matrix transformations, boundedness and convergence with speed are widely used in approximation theory to transform non-convergent sequences into convergent ones or to transform

convergent sequences into “better” convergent sequences, [6], [9], [10], [11].

In general, the problems of improvement of the quality of convergence of sequences by matrix transformations are considered in many works, [1], [12], [13], [14], [15], [16]. Moreover, the applications in theoretical physics can be found, for example, in [17] and [18].

Let further $\mu := (\mu_k)$ be another speed, $B = (b_{nk})$ a lower triangular infinite matrix, and a matrix $A = (a_{nk})$ is normal or λ -reversible. We recall that A is normal, if $a_{nk} = 0$ for $k > n$, and $a_{nn} \neq 0$ for each n , and λ -reversible, if the system of equations $z_n = A_n x$ has a unique solution for each sequence $(z_n) \in c^\lambda$. Matrix transforms from $X \rightarrow Y$, where X is one of the sets c^λ , c_0^λ , l_∞^λ , l_1^λ , c_A^λ , $(c_0)_A^\lambda$, $(l_\infty)_A^\lambda$ or $(l_1)_A^\lambda$, and Y one of the sets c^μ , c_0^μ , l_∞^μ , l_1^μ ($\alpha > 1$), c_B^μ , $(c_0)_B^\mu$, $(l_\infty)_B^\mu$ or $(l_1)_B^\mu$ have been studied in [6], and in several works of the authors of the current paper, we mention only [1] and [2].

In this paper, we characterize the matrix transforms from c_A^λ , $(c_0)_A^\lambda$, $(l_\infty)_A^\lambda$ and $(l_1)_A^\lambda$ into $(l_\alpha)_B^\mu$ ($\alpha > 1$).

2 Auxiliary Results

In this section, we present some results, which we use in next sections in the proofs of the main theorems of the present paper.

The following Lemmas 1 – 3 have been proved in [19] and [20].

Lemma 1. For $A = (a_{nk}) \in (c_0, c)$ it is necessary and sufficient that

$$\exists \lim_m a_{mk} := a_k \text{ (finite)} \quad (2)$$

$$\sup_n \sum_k |a_{nk}| < \infty. \quad (3)$$

Moreover,

$$\lim_n A_n x = \sum_k a_k x_k \quad (4)$$

for every $x = (x_k) \in c_0$.

Lemma 2. For $A = (a_{nk}) \in (c, c)$ it is necessary and sufficient that conditions (2), (3) hold, and

$$\exists \tau \text{ such that } \lim_n \sum_k a_{nk} := \tau. \quad (5)$$

Moreover, if $\lim_k x_k = s$ for $x = (x_k) \in c$, then

$$\lim_n A_n x = s\tau + \sum_k (x_k - s)a_k.$$

Lemma 3. Next assertions are equivalent:

(a) $A = (a_{nk}) \in (l_\infty, c)$.

(b) Relations (2), (3) hold and

$$\lim_n \sum_k |a_{nk} - a_k| = 0. \quad (6)$$

(c) Relation (2) is satisfied and

$$\sum_k |a_{nk}| < \infty \text{ uniformly with respect to } n. \quad (7)$$

In addition, if one of the assertions (a)-(c) holds, then (4) is satisfied for each $x = (x_k) \in l_\infty$.

The following Lemmas 4 – 6 have been proved in [20].

Lemma 4. For $A = (a_{nk}) \in (l_1, c)$ it is necessary and sufficient that (2) holds, and

$$\sup_{n,k} a_{nk} < \infty. \quad (8)$$

In addition, relation (4) is valid for each $x = (x_k) \in l_1$.

Lemma 5. For $A = (a_{nk}) \in (l_1, l_\alpha)$ ($\alpha > 1$) it is necessary and sufficient that

$$\sup_k \sum_n |a_{nk}|^\alpha < \infty.$$

Lemma 6. For $A = (a_{nk}) \in (l_\infty, l_\alpha) = (c_0, l_\alpha)$ ($\alpha > 1$) it is necessary and sufficient that

$$\sup_K \sum_n \left| \sum_{k \in K} a_{nk} \right|^\alpha < \infty$$

for all finite subsets K from $N := \{0, 1, 2, \dots\}$, or

$$\sum_n \left| \sum_{k \in K^*} a_{nk} \right|^\alpha < \infty$$

for every $K^* \subset N$.

Let $A = (a_{nk})$ be a λ -reversible matrix. For $x \in c_A^\lambda$, let

$$\phi := \lim_n A_n x, \quad d_n := \lambda_n (A_n x - \phi), \quad d := \lim_n d_n,$$

and $\eta := (\eta_k)$, $\varphi := (\varphi_k)$, (η_{kj}) (for every j) satisfy the system $y = Ax$ respectively to $y = (\delta_{nn})$, $y = (\delta_{nn} / \lambda_n)$, $y = y^j := (\delta_{nj})$ (where $\delta_{nj} = 1$ if $n = j$ and $\delta_{nj} = 0$ if $n \neq j$).

Lemma 7 ([2], Corollary 9.1). For a λ -reversible $A = (a_{nk})$, each member x_k of a sequence $x = (x_k) \in c_A^\lambda$ can be represented in the form

$$x_k = \phi\eta_k + d\varphi_k + \sum_n \frac{\eta_{kn}}{\lambda_n} (d_n - d), \sum_n \left| \frac{\eta_{kn}}{\lambda_n} \right| < \infty. \quad (9)$$

Remark 1. If $x = (x_k) \in (c_0)_A^\lambda$, then $d = 0$. Hence for every member x_k of $x = (x_k) \in (c_0)_A^\lambda$ we may write

$$x_k = \phi\eta_k + \sum_n \frac{\eta_{kn}}{\lambda_n} (d_n - d), \sum_n \left| \frac{\eta_{kn}}{\lambda_n} \right| < \infty. \quad (10)$$

3 The Set $\left((l_\infty)_A^\lambda, (l_\alpha)_B^\mu \right), \alpha > 1$

Let throughout in this section $A = (a_{nk})$ be a normal matrix with its inverse matrix $A^{-1} := (\eta_{nk})$, $B = (b_{nk})$ a triangular matrix, and $M = (m_{nk})$ an arbitrary matrix

In the beginning, we find necessary and sufficient conditions for the existence of Mx on $(l_\infty)_A^\lambda$. In this case for all $x := (x_k) \in (l_\infty)_A^\lambda$ we can write

$$\sum_{k=0}^j m_{nk} x_k = \sum_{k=0}^j m_{nk} \sum_{l=0}^k \eta_{kl} y_l = \sum_{l=0}^j h_{jl}^n y_l, \quad y_l := A_l x,$$

where $H^n := (h_{jl}^n)$ is the lower triangular matrix for each n , defined by

$$h_{jl}^n := \sum_{k=l}^j m_{nk} \eta_{kl}, \quad l \leq j.$$

Consequently, for the existence of Mx for each $x \in (l_\infty)_A^\lambda$ it is necessary and sufficient that $H^n \in (l_\infty, c)$ for all n . Thus, we obtain ([2], Proposition 8.1)

Proposition 1. For the existence of Mx on $(l_\infty)_A^\lambda$ it is necessary and sufficient that for every n ,

$$\exists \lim_j h_{jl}^n := h_{nl} \text{ (finite)}, \quad (11)$$

$$\exists \lim_j \sum_{l=0}^j h_{jl}^n \text{ (finite)} \quad (12)$$

$$\sup_j \sum_l \left| \frac{h_{jl}^n}{\lambda_l} \right| < \infty, \quad (13)$$

$$\lim_j \sum_l \left| \frac{h_{jl}^n - h_{nl}}{\lambda_l} \right| = 0. \quad (14)$$

Moreover, instead of (13) it is possible to set

$$\sum_l \left| \frac{h_{nl}}{\lambda_l} \right| < \infty \quad (15)$$

for all n

Remark 2. With the help of Lemma 3 c) it is possible to prove that instead of (13) and (14) we can put

$$\sum_l \left| \frac{h_{jl}^n}{\lambda_l} \right| < \infty \text{ uniformly in } j \text{ for all } n. \quad (16)$$

Next, we need the matrix $G = (g_{nk}) = BM$; i.e.,

$$g_{nk} := \sum_{l=0}^n b_{nl} m_{lk},$$

and lower triangular matrices $\Gamma^n := (\gamma_{nl}^j)$, where

$$\gamma_{nl}^j := \sum_{k=l}^j g_{nk} \eta_{kl}, \quad l \leq j.$$

Theorem 1. Let $\lambda_n \neq O(1)$ and $\alpha > 1$. For $M \in \left((l_\infty)_A^\lambda, (l_\alpha)_B^\mu \right)$ it is necessary and sufficient that (11) – (14) hold,

$$\exists \lim_j \gamma_{nl} := \gamma_l \text{ (finite)}, \quad (17)$$

$$\lim_n \sum_l \left| \frac{\gamma_{nl} - \gamma_l}{\lambda_l} \right| = 0, \quad (18)$$

$$\sup_n \sum_l \left| \frac{\gamma_{nl}}{\lambda_l} \right| < \infty, \quad (19)$$

$$\sup_K \sum_n \mu_n \left| \sum_{l \in K} \frac{\gamma_{nl} - \gamma_l}{\lambda_l} \right|^\alpha < \infty \quad (20)$$

for every finite $K \subset \mathbb{N}$, where

$$\gamma_{nl} := \lim_j \gamma_{nl}^j, \quad (21)$$

and

$$(\rho_n) \in l_\alpha^\mu, \quad \rho_n := \lim_j \sum_{l=0}^j \gamma_{nl}^j. \quad (22)$$

Moreover, instead of (19) it is possible to set

$$\sum_l \left| \frac{\gamma_l}{\lambda_l} \right| < \infty. \quad (23)$$

Proof. Necessity. Suppose that $M \in \left((l_\infty)_A^\lambda, (l_\alpha)_B^\mu \right)$.

In this case Mx exists on $(l_\infty)_A^\lambda$. This implies that (11) - (14) hold by Proposition 1, and

$$B_n y = G_n x \quad (24)$$

on $(l_\infty)_A^\lambda$, since B is lower triangular.

Hence $G \in \left((l_\infty)_A^\lambda, l_\alpha^\mu \right)$ by (24).

Moreover,

$$\sum_{k=0}^j g_{nk} x_k = \sum_{l=0}^j \gamma_{nl}^j A_l x \quad (25)$$

for all $x \in (I_\infty)_A^\lambda$. As A is normal, then we can find $x \in (I_\infty)_A^\lambda$ satisfying the equality $A_n x = e$. Consequently (22) holds by (25).

As A is normal, then for every bounded sequence (β_n) we can find $x \in (I_\infty)_A^\lambda$ satisfying the relations

$$\lim_n A_n x := \delta \text{ and } \beta_n = \lambda_n (A_n x - \delta). \quad (26)$$

As from (26) we have

$$A_n x = \delta + \frac{\beta_n}{\lambda_n},$$

then, using (25) and (26), we obtain for all $x \in (I_\infty)_A^\lambda$ that

$$\sum_{k=0}^j g_{nk} x_k = \delta \sum_{l=0}^j \gamma_{nl}^j + \sum_{l=0}^j \frac{\gamma_{nl}^j}{\lambda_l} \beta_l. \quad (27)$$

Since $G_n x$ converges on $x \in (I_\infty)_A^\lambda$, and there exist the finite limits ρ_n by (22), then $\Gamma_\lambda^n := (\gamma_{nl}^j / \lambda_l) \in (I_\infty, c)$ for all n . Consequently, using Lemma 3, we conclude from (27) that

$$G_n x = \delta \rho_n + \sum_l \frac{\gamma_{nl}}{\lambda_l} \beta_l \quad (28)$$

for every $x \in (I_\infty)_A^\lambda$. We note that the existence of the finite limits γ_{nl} (see (21)) follows from the existence of the transform Mx on $(I_\infty)_A^\lambda$. Moreover, the finite limit $\lim_n \rho_n := \rho$ exists by (22). Hence from (28), we can conclude that the matrix $\Gamma_\lambda := (\gamma_{nl} / \lambda_l) \in (I_\infty, c)$. This implies that conditions (17) – (19) hold and

$$\lim_n G_n x = \delta \rho + \sum_l \frac{\gamma_l}{\lambda_l} \beta_l \quad (29)$$

for every $x \in (I_\infty)_A^\lambda$ by Lemma 3. Writing

$$\begin{aligned} \mu_n (G_n x - \lim_n G_n x) &= \delta \mu_n (\rho_n - \rho) + \\ \mu_n \sum_l \frac{\gamma_{nl} - \gamma_l}{\lambda_l} \beta_l \end{aligned} \quad (30)$$

for every $x \in (I_\infty)_A^\lambda$, we obtain with the help of (22) that $\Gamma_{\lambda, \mu} := (\mu_n (\gamma_{nl} - \gamma_l) / \lambda_l) \in (I_\infty, I_\alpha)$. Therefore condition (20) is satisfied by Lemma 6.

Finally, (23) holds by (18) and (19).

Sufficiency. Let relations (11) – (14) and (17) – (22) be fulfilled. In this case Mx exists on $(I_\infty)_A^\lambda$ by Proposition 1, and (24) – (27) are satisfied on $(I_\infty)_A^\lambda$. Similarly to the necessity part, with the help of (22) and Lemma 3, it is possible to show that (27) implies (28) for all $x \in (I_\infty)_A^\lambda$. As (22) holds and $\Gamma_\lambda \in (I_\infty, c)$ by Lemma 3 (due to the validity of (17) – (19)), then from (28) we can conclude (again by Lemma 3) that equation (29) is valid for every $x \in (I_\infty)_A^\lambda$. Hence relation (30) also is satisfied on $(I_\infty)_A^\lambda$, and $\Gamma_{\lambda, \mu} \in (I_\infty, I_\alpha)$ by Lemma 6. Therefore $M \in \left((I_\infty)_A^\lambda, (I_\alpha)_B^\mu \right)$ due to (22).

Finally, instead of (19) we can put (23) since (19) holds by (18) and (23).

If $\sup_n \lambda_n < \infty$, then $\lim_n \beta_n = 0$ in (26). Therefore, in this case $\Gamma_\lambda^n \in (c_0, c)$ for every n . Thus, applying Lemma 1, we can immediately to formulate

Theorem 2. Let $\lambda_n = O(1)$ and $\alpha > 1$. For $M \in \left((I_\infty)_A^\lambda, (I_\alpha)_B^\mu \right)$ it is necessary and sufficient that (11) – (14), (17) and (19), (20), (22) hold.

Remark 3. With the help of Lemma 3 c) we obtain that in Theorem 1, instead of (13), (14) we may set (16), and instead of (18) and (19) – the relation:

$$\sum_l \frac{|\gamma_{nl}|}{\lambda_l} < \infty \text{ uniformly with respect to } n.$$

Remark 4. It is possible to show with the help of Lemma 6 that instead of (20) in Theorems 1 and 2 we can put:

$$\sum_n \mu_n \left| \sum_{l \in K^*} \frac{\gamma_{nl} - \gamma_l}{\lambda_l} \right|^\alpha < \infty \quad (\forall K^* \subset \mathbb{N}). \quad (31)$$

4 The Sets $\left(c_A^\lambda, (I_\alpha)_B^\mu \right), \left((c_0)_A^\lambda, (I_\alpha)_B^\mu \right)$ and $\left((I_1)_A^\lambda, (I_\alpha)_B^\mu \right), \alpha > 1$

Let throughout in this section $A = (a_{nk})$ be a λ -reversible matrix, $B = (b_{nk})$ a triangular matrix, and $M = (m_{nk})$ an arbitrary matrix

Proposition 2 ([2], Proposition 9.5). *For the existence of Mx on c_A^λ it is necessary and sufficient that (11), (13) hold, and for every n ,*

$$\sum_k m_{nk} \eta_k < \infty, \quad (32)$$

$$\sum_k m_{nk} \varphi_k < \infty. \quad (33)$$

Proposition 3. *For the existence of Mx on $(c_0)_A^\lambda$ it is necessary and sufficient that (11), (13) and (32) hold.*

Proposition 4. *For the existence of Mx on $(l_1)_A^\lambda$ it is necessary and sufficient that (11), (32) hold, and*

$$\frac{h_{jl}^n}{\lambda_l} = O_n(1). \quad (34)$$

Propositions 3 and 4 can be proved in a similar fashion to Proposition 2 (presented in [2]); therefore, we omit the proofs of these propositions.

Further, we apply matrices $\Gamma^n := (\gamma_{nl}^j)$, where

$$\gamma_{nl}^j := \sum_{k=l}^j g_{nk} \eta_{kl}.$$

If Mx exists on c_A^λ (on $(c_0)_A^\lambda$, or on $(l_1)_A^\lambda$), then finite limits (21) exist.

Theorem 3. *Let $\alpha > 1$. For $M \in \left(c_A^\lambda, \left(l_\alpha \right)_B^\mu \right)$ it is necessary and sufficient that (11), (13), (17), (19), (20), (32), (33) are satisfied, and*

$$\eta, \varphi \in (l_\alpha)_G^\mu. \quad (35)$$

Proof. Necessity. Suppose that $M \in \left(c_A^\lambda, (l_\alpha)_B^\mu \right)$. In

this case Mx exists on c_A^λ . This implies that (11), (13), (32), and (33) are satisfied by Proposition 2, and relation (24) is valid on c_A^λ since B is lower triangular. Consequently $c_A^\lambda \subset (l_\alpha)_G^\mu$, and $G_n x$ converges on c_A^λ . This implies that condition (35) holds due to $\eta, \varphi \in c_A^\lambda$. As each member x_k of $x := (x_k) \in c_A^\lambda$ may be presented in the form (9) by Lemma 7, then, we have:

$$\sum_{k=0}^j g_{nk} x_k = \phi \sum_{k=0}^j g_{nk} \eta_k + d \sum_{k=0}^j g_{nk} \varphi_k + \sum_l \frac{\gamma_{nl}^j}{\lambda_l} (d_l - d) \quad (36)$$

for all $x \in c_A^\lambda$. As $G_n x$ converges on c_A^λ , then from (36) it follows, by (35), that the matrix Γ_λ^n for each n transforms this sequence $(d_l - d) \in c_0$ into c . We show that Γ_λ^n transforms every sequence $(\bar{d}_l) \in c_0$

into c . Indeed, for every sequence $(\bar{d}_l) \in c_0$ there exists a sequence $(d_l) \in c$ with $\bar{d}_l = d_l - d$, where $\lim_l d_l = d$. Then $((d_l - d) / \lambda_l) \in c_0$. Moreover, for this sequence, we can find $z = (z_l) \in c$ so that

$$(d_l - d) / \lambda_l = z_l - \phi, \quad \phi := \lim_l z_l,$$

As A is λ -reversible, then for each $z = (z_l) \in c$ with $\phi := \lim_l z_l$, there exists a convergent sequence x with $z_l = A_l x$. So we showed that, for each $(\bar{d}_l) \in c_0$ we can find $x \in c_A^\lambda$ so that $\bar{d}_l = \lambda_l (A_l x - \phi)$. Hence $\Gamma_\lambda^n \in (c_0, c)$. Therefore (36) implies, by Lemma 1, that:

$$G_n x = \phi G_n \eta + d G_n \varphi + \sum_l \frac{\gamma_{nl}^j}{\lambda_l} (d_l - d) \quad (37)$$

for all $x \in c_A^\lambda$. From (37) we conclude by (35) that $\Gamma_\lambda \in (c_0, c)$. This implies by Lemma 1 that conditions (17), (19) hold and:

$$\lim_n G_n x = \phi \lim_n G_n \eta + d \lim_n G_n \varphi + \sum_l \frac{\gamma_l}{\lambda_l} (d_l - d) \quad (38)$$

for every $x \in c_A^\lambda$. Consequently we can write:

$$\begin{aligned} \mu_n (G_n x - \lim_n G_n x) &= \phi \mu_n (G_n \eta - \lim_n G_n \eta) + \\ d \mu_n (G_n \varphi - \lim_n G_n \varphi) &+ \mu_n \sum_l \frac{\gamma_{nl} - \gamma_l}{\lambda_l} (d_l - d) \end{aligned} \quad (39)$$

for each $x \in c_A^\lambda$. From (39) it follows, by (35), that $\Gamma_{\lambda, \mu} \in (c_0, l_\alpha)$. Thus (20) holds by Lemma 6.

Sufficiency. Let relations (11), (13), (17), (19), (20), (32), (33) and (35) be fulfilled. In this case Mx exists on c_A^λ by Proposition 2. Hence (24), (36) are satisfied for every $x \in c_A^\lambda$ and $\Gamma_\lambda^n \in (c_0, c)$ for all n . Then it is possible to take the limit under the summation sign in the third summand of (36) by Lemma 1. Thus, using (35), from (36) we obtain that (37) holds on c_A^λ by Lemma 1. Moreover, $\Gamma_\lambda \in (c_0, c)$ by (17) and (19). Hence from (37) we have, by (35) and Lemma 1, that (38) holds for every $x \in c_A^\lambda$. Then relation (39) also is satisfied for every $x \in c_A^\lambda$, and $\Gamma_{\lambda, \mu} \in (c_0, l_\alpha)$ by Lemma 6 because condition (20) holds. Therefore $M \in \left(c_A^\lambda, (l_\alpha)_B^\mu \right)$ by (35).

If instead of c_A^λ to take $(c_0)_A^\lambda$ in Theorem 3, then $d=0$ in the proof of this theorem, and instead of Proposition 2 it is necessary to use Proposition 3. Therefore, we can immediately to formulate the following result.

Theorem 4. Let $\alpha > 1$. For $M \in ((c_0)_A^\lambda, (l_\alpha)_B^\mu)$ it is necessary and sufficient that (11), (13), (17), (19), (20), (32) are satisfied, and $\eta \in (l_\alpha)_G^\mu$.

Remark 5. As in Section 3. it is possible to show by Lemma 6 that condition (20) in Theorems 3 and 4 can be replaced by condition (31).

Theorem 5. Let $\alpha > 1$. For $M \in ((l_1)_A^\lambda, (l_\alpha)_B^\mu)$ it is necessary and sufficient that (11), (17), (32), (34) are satisfied, $\eta \in (l_1)_G^\mu$, and

$$\sup_{n,l} \left| \frac{\gamma_{nl}}{\lambda_l} \right| < \infty,$$

$$\sup_n \frac{1}{\lambda_l} \sum_n \mu_n |\gamma_{nl} - \gamma_l|^\alpha < \infty.$$

5 Conclusion

This paper is the continuation [1]. Let $\alpha > 1$, and λ, μ be speeds of convergence; i.e., monotonically increasing strictly positive sequences. In the current paper, we characterized the matrix transforms from the λ -boundedness domain of a normal matrix A (with real or complex entries), and from the λ -convergence or from the absolute λ -convergence domain of a λ -reversible matrix A into the α -absolute μ -convergence domain of a triangular matrix B (with real or complex entries), .

Further, we intend to generalize the results of this paper to abstract structures. For example, we will study matrix transforms over ultrametric spaces. Also, we try to apply our results in approximation theory, for example, for the estimation of approximation orders of Fourier expansions.

References:

- [1] A. Aasma, and P. N. Natarajan, Matrix Transforms Into the Set of α -absolutely Convergent Sequences with Speed and the Regularity of Matrices on the Sub-spaces of c , *WSEAS Transactions on Mathematics*, Vol.

- 23, 2024, pp. 60-67.
<https://doi.org/10.37394/23206.2024.23.7>.
- [2] A. Aasma, H. Dutta and P. N. Natarajan, *An Introductory Course in Summability Theory*, John Wiley and Sons, 2017, [Online].
<https://onlinelibrary.wiley.com/doi/book/10.1002/9781119397786> (Accessed Date: November 25, 2024).
- [3] P. Amore, Convergence acceleration of series through a variational approach, *J. Math. Anal. Appl.*, Vol.323, No.1, 2006, pp. 63-77.
<https://doi.org/10.1016/j.jmaa.2005.09.091>.
- [4] C. Brezinski and M. Redivo-Zaglia, *Extrapolation and rational approximation—the works of the main contributors*, Springer, 2020.
<https://doi.org/10.1007/978-3-030-58418-4>.
- [5] C. Brezinski, Convergence acceleration during the 20th century, *J. Comput. Appl. Math.*, Vol. 122, No.1-2, 2000, pp. 1-21.
[https://doi.org/10.1016/S0377-0427\(00\)00360-5](https://doi.org/10.1016/S0377-0427(00)00360-5).
- [6] J.P. Delahaye, *Sequence Transformations*, Springer, 1988.
- [7] G. Kangro, Summability factors for the series λ -bounded with respect to the methods of Riesz and Cesàro (Množitelji summirujemosti dlya ryadov, λ -ogranitšennõh metodami Rica i Cezaro), *Acta Comment. Univ. Tartu. Math.*, No. 277, 1971, pp. 136-154.
- [8] A. Sidi, *Practical Extrapolation Methods.*, Cambridge monographs on applied and computational mathematics 10, Cambridge Univ. Press, 2003,
<https://doi.org/10.1017/CBO9780511546815>.
- [9] P.L. Butzer and R.I. Nessel, *Fourier analysis and approximation: one-dimensional theory*, Birkhäuser Verlag, 1971.
- [10] A. Zygmund, *Trigonometric series*, 3rd edition, Cambridge Univ. Press, 2003.
- [11] W. Trebels, *Multipliers for (C, α) -bounded Fourier expansions in Banach spaces and approximation theory*, Lecture Notes in Math., Vol. 329, Springer Verlag, 1973.
- [12] S. Das and H. Dutta, Characterization of some matrix classes involving some sets with speed, *Miskolc Math. Notes*, Vol.19, No. 2, 2018, pp. 813–821.
<https://doi.org/10.18514/MMN.2018.2495>.
- [13] I. Kornfeld, Nonexistence of universally accelerating linear summability methods, *J. Comput. Appl. Math.*, Vol.53, No.3, 1994, pp. 309-321.
[https://doi.org/10.1016/0377-0427\(94\)90059-0](https://doi.org/10.1016/0377-0427(94)90059-0).

- [14] U. Stadtmüller and A. Tali, Comparison of certain summability methods by speeds of convergence, *Anal. Math.*, Vol.29, No.3, 2003, pp. 227-242. <https://doi.org/10.1023/a:1025419305735>.
- [15] I. Tammeraid, Generalized linear methods and convergence acceleration, *Math. Model. Anal.*, Vol.8, No.4, 2003, pp. 329-335. <https://doi.org/10.3846/13926292.2003.9637234>.
- [16] I. Tammeraid, Convergence acceleration and linear methods, *Math. Model. Anal.*, Vol.8, No.1, 2003, pp. 87-92. <https://doi.org/10.3846/13926292.2003.9637213>.
- [17] E. Caliceti, M. Meyer-Hermann, P. Ribeca, A. Surzhykov and U.D. Jentschura, From useful algorithms for slowly convergent series to physical predictions based on divergent perturbative expansions, *Physics Reports-Review Section of Physics Letters*, Vol. 446, No. 1-3, 2007, pp. 1-96. <https://doi.org/10.1016/j.physrep.2007.03.003>.
- [18] C. M. Bender, C. Heissenberg, *Convergent and Divergent Series in Physics. A short course by Carl Bender*, in: C. Heissenberg (Ed.), *Lectures of the 22nd "Saalburg" Summer School*, Saalburg, 2016, [Online]. https://www.researchgate.net/publication/315096444_Convergent_and_Divergent_Series_in_Physics (Accessed Date: November 25, 2024).
- [19] J. Boos, *Classical and Modern Methods in Summability*, Oxford University Press, 2000. <https://doi.org/10.1093/oso/9780198501657.01.0001>.
- [20] M. Stieglitz and H. Tietz, Matrixtransformationen von Folgenräumen. Eine Ergebnisübersicht, *Math. Z.*, Vol.154, No.1, 1977, pp. 1-16, [Online]. https://gdz.sub.uni-goettingen.de/id/PPN266833020_0154?tfy=%7B%22pages%22%3A%5B9%5D%2C%22pan%22%3A%7B%22x%22%3A0.531%2C%22y%22%3A0.775%7D%2C%22view%22%3A%22info%22%2C%22zoom%22%3A0.352%7D (Accessed Date: November 25, 2024).

Contribution of Individual Authors to the Creation of a Scientific Article (Ghostwriting Policy)

The authors equally contributed to the present research, at all stages from the formulation of the problem to the final findings and solution.

Sources of Funding for Research Presented in a Scientific Article or Scientific Article Itself

No funding was received for conducting this study.

Conflict of Interest

The authors have no conflicts of interest to declare.

Creative Commons Attribution License 4.0 (Attribution 4.0 International, CC BY 4.0)

This article is published under the terms of the Creative Commons Attribution License 4.0

https://creativecommons.org/licenses/by/4.0/deed.en_US